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Brascamp—Lieb inequalities

Let Bj: RY — R% surjective linear maps.

/ [T BxPs ax < BLB;, psH [ | (/ |dy>
RE 55 =1
Feasibility (BL({Bj,p;j}) < 00):

> ¥ pid = d

> dimV < ) pjdimB;V  for all subspaces V C R
Geometric dat;:

> (projection) BjBj = Iq;

> (isotropy) 3_; p;BiBj = Ia
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Loomis—Whitney in d = 3:
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From Gaussians to matrices
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Let gj(x) = exp(—%(Ajx,x)) on RY, then
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» When BL({Bj,pj}) < oo, how can we approximate it?



» How to approximate BL({Bj,p;})?
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Let B= (By,...,Bm) € V=R¥Xd1 x ... x R4Xdm_
Let G =SL(dy) x -+ x SL(d,) x SL(d) acting on V as

SL(dy) x --- xSL(dm) xSL(d) xV =V
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Then
BL{B,p;})”' = inf |lg- B
geG

is the length of a minimal vector w.r.t || -] in a given orbit.
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A map to separate closed orbits
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“A bit of Algebra never hurts”
— Lukas M.

Thank you

Schon, dass Sie da sind

Thanks to Rajula, Linda Ness and Ramiro Lafuente for the
exciting maths discussions.
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